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Worksheet 4: Secondary storage devices Answers
Task 1: 
Translate the binary pattern and then use the ASCII table to work out the character stored on each of the following storage devices:
Hard Disk: Read N (North) as a 0, s (South) as a 1.   
Answer: 01001000 = H
[image: C:\Users\Rob\Dropbox\PG Online\GCSE Series\Incomplete units (GCSE)\Unit 2-1-2 Hardware Sargent\Images\Storage diagrams.png]
Optical storage: Read a change from a Pit to a Land as a 1, anything else as a 0. 
Answer:  01001100 = L
[image: C:\Users\Rob\Dropbox\PG Online\GCSE Series\Incomplete units (GCSE)\Unit 2-1-2 Hardware Sargent\Images\Storage diagrams.png]

Solid state storage: Read an electron trapped inside the middle layer as a 1, outside the middle as a 0.
[image: C:\Users\Rob\Dropbox\PG Online\GCSE Series\Incomplete units (GCSE)\Unit 2-1-2 Hardware Sargent\Images\Storage diagrams.png]
Answer 01000111 = G



Task 2: 
Complete the table below using High, Medium or Low as appropriate for each storage medium.  (Many of the answers below are arguable!)
	
	Capacity
	Speed
	Portability
	Durability
	Reliability
	Cost

	HDD
	High
	High
	Low
	High
	High
	High

	SSD
	Medium
	Very high
	Medium
	Medium
	High
	Very high

	CD
	Low
	Medium
	High
	Low
	Low
	Low

	DVD
	Medium
	Medium
	High
	Low
	Low
	Low

	Blu-Ray
	Medium
	Medium
	High
	Low
	Low
	Low

	USB Flash Memory
	Medium
	High
	High
	Low
	High
	High



Task 3
Caculate the data capacity required for the following scenarios. State the most suitable type of storage based on the data requirements. Justify your choice.
	
	Capacity required
	Storage type required
	Justification

	20 photographs 
at 20MB each
	400MB
	Solid state / Optical / Flash
	Cheap and portable

	[bookmark: _GoBack]200 MP4 files 
at 3GB each
	600GB
	Magnetic
	High capacity
Cheap to buy at this capacity
Durable

	Three word processed documents at 1MB each
	3MB
	USB Flash Drive
	High speed access
Very portable and reliable
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